CHOP -POSN

+0.3 |
3.5 -0.3
0 HOP AN
B RN CHOP ANGLS |
AXI RTH NALITY
_ : T 1S ORTHOSONAL ©
-0.1
[ ©/ 1 [ 1
o) 1 [
1 [
74©,, _ 4] —_—— —
h i -
—e 0 i NN
1 ] = 1 g
\_ ‘ - e
[e] ‘ [} __ ;
o o . o %—l]_-‘ ’ Erg
| |
| o
‘ bt ¢ 0
|
A [P \ P o
|
| [ i | 1 | ‘
4025 _L%A
41.5 -0.25 025
115.65 -0.25
+0. 1 +0. 1|
28.5 -0.1,28.5 -0.1
‘ NOTES:
[~ \ N |. MASS OF ASSEMBLY ESTIMATED AT 0.779 kg (-0, +0.105kg)
YL ! TP 2. ASSEMBLE IN CLASS 1000 CLEANROOM PER PA PLAN, DOCUMENT SPIRE-ATC-PRJ-000711
| 3. ‘CHOP-POSN’ AXIS SHOWS BSM CHOPPED ‘FORWARD®
4. REST POSITION OF AXES MUST BE MEASURED WITH ASSEMBLY FACING UPWARDS
o ! o PER PROCEDURE XXX (TO BE WRITTEN)
| 5. MEASURE CoG POSITION AND MASS AND REPORT TO BSM PA MANAGER
|
| I
‘ I
|
E ‘ R I Ob t
il ® © THIRD ANGLE PROJECTION —~ Royol Observalory
DIMENSIONS IN MM W) L] |w Edinburgh
— | Astronomy Technology Centre EH9 3HJ
N =
Material: CTD:-|Drawn: IP Date:29.MAY.OI
0 +0.25 Finish: 01-12Mod “d: Date:
+0. - " N
@6 -0 1 TYP 3 PLACES [ 465 -0.25 | Untess otherwise states  |LasT mod: CONSEQ. UPDATE DUE TO DEV. MODEL INTRODUCTION

Tolerances: - Title: BEAM STEERING MIRROR ASSEMBLY
Linear : 0.1
Angular : +0.5 [Size|Dwg No: SPIRE-BSM-020-001 Rev

Remove all sharp edges A2 Scale: MOPEL} SPIRE-BSM-020-001 Sheet: | of: 5




THIS SHEET SHOWS TRIMETRIC VIEWS OF THE ASSEMBLY
WITH BAFFLE AND HARNESS REMOVED FOR CLARITY.

SCALE 0.600

THIRD ANGLE PROJECTION N STZ?II(fE))EZeL\;?:ory
DIMENSIONS IN MM </ ] UK Edinburgh

Astronomy Technology Centre EH9 3HJ
Material: N/A CTD:-[Drawn: I[P Date: 5. JUN.OI
Finish: SEE NOTE Mod “d: Date:

Unless otherwise stated|Last mod: CONSEQ. UPDATE

Title: BSM ASSEMBLY C(INFORMATION VIEWS)

Tolerances: -
Linear : +0. 1

Angular - +0.5° S12¢[Dwg No: SPIRE-BSH-020-00 Rev

Remove all sharp edges Scale: WOML;SNRpBw-m0w0| |Shee+ 2 OF 5




!—>>

clici="Ii
e o | O
{-Jp
S 1
.
olle [—1 ||
-
ofle |_"J |,

Y B aEy
J
I

|
Yy

SECTION A-

A

_JIGGLE-AXIS

LJIGGLE MOTION +0.6°

NOTES:

. "JIGGLE AXIS’

AXTS SHOWS MIRROR JIGGLED RIGHTWARDS

2. AXIS ORTHOGONALITY TO BE MEASURED AS NOTED ON SHEET |
3. BAFFLE AND HARNESS OMMITTED FOR CLARITY

4. CHECK JIGGLE SENSOR SETTING DIMENSTONS AS SHOWN

g

P22, \| |.‘\mj

=T

W\
N

2 -0.05
(0.18 NOM) |

0

/s
Ct|

SECTION

D-D

THIRD ANGLE PROJECTION Royal Observatory

DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: N/A CTD:-|Drawn: TAP Date: 5. JUN.OI

Finish: SEE NOTE 0l-12[Mod d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title: BEAM STEERING MIRROR ASSEMBLY

Linear : 401 (SECTIONS SHOWING MIRROR POSITION)

Angular : +0.5° SAiSZe Dwg No: SPIRE-BSM-020-001 Rev

Remove all sharp edges Scale: WOML;stpBw-mow0| |Shee+ 3 0OF 5




NOTES

I. FLYING HARNESS ARE PRESENT ON ITEMS 8, II, 12, I3
HARNESS ROUTING IS TBD.
2. ASSEMBLE GIMBAL ITEM 1 WITH JIG, DRAWING
NO. SPIRE-BSM-022-XXX (TBD)
3. FIT CHECK CONNECTORS, ITEMS I, 6 BUT DO NOT
ASSEMBLE UNTIL HARNESS COMPLETED (SEE SHEET 5)
4. MOTOR ASSEMBLIES ITEM 12, AND LOOSE MOTOR PACKAGED
WITH GIMBAL ARE TO BE ALIGNED FOR POSITION BY
TBD METHOD (ASSEMBLY FEATURE MACHINED INTO ITEM 16)

5. FRONT BAFFLE OMITTED FOR CLARITY

ITEM |DESCRIPTION QUANTITY] FILENAME REV.
| 37 pin connector MDM 2 3TWAY _CONN |
2 |CAP HD SCREW SS M2.5 x 6mm 10 CAP-HD-SCREW-SS-M2-5X6 I
3 |CAP HD SCREW SS M2.5xTmm 15 CAP-HD-SCREW-SS-M2-5XT |
4 |CAP HD SCREW SS M2x12 4 CAP-HD-SCREW-SS-M2-5X12 ||
5 |CAP HD SCREW SS M2.5X7.75 2 CAP-HD-SCREW-SS-M2-5X7_75 ||
6 |CAP HD SCREW SS M2X10 4 CAP-HD-SCREW-SS-M2X10 I
T |CAP HD SCREW SS M4x10 3 CAP-HD-SCREW-SS-M4X10 I
8 | CERNOX THERMISTOR, Cu CANISTER MOUNT 2 CX-1030-CU |
9 |DISC SPRING SS 3.2mm ID 4 DISC-SPRING-1D-3.2 |
10 |DOWEL SS 2mm dia x 8mm Ig. 4 DOWEL _8X2 |
Il |Gimbal Assembly (Jiggle + Chop stages) | SPIRE-BSM-020-003 3
12 |COIL ASSEMBLY 4 SPIRE-BSM-020-005 2
I3 |SENSOR ASSY 2 SPIRE-BSM-020-007 2
14 |BSM Structural Interface | SPIRE-BSM-020-001-001 3
15 |BASEPLATE I SPIRE-BSM-020-001-002 2
16 |Jiggle axis flexure clamp lower | SPIRE-BSM-020-001-003 2
I7 |PCAL SPACE ENVELOPE I SPIRE-BSM-020-001-004 I
I8 |Jiggle axis flexure clamp upper | SPIRE-BSM-020-001-005 2
19 |BSM LAUNCH LATCH SPACE ENVELOPE I SPIRE-BSM-020-001-007 I
20 | FRONT BAFFLE I SPIRE-BSM-020-001-009 I
_— THIRD ANGLE PROJECTION m I/I g?zg;f(g?;em?:ory
DIMENSIONS IN MM & W] |uk Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: TAP Date: 18.JUL.OI
Finish: 01-25 Mod “d: Date:
Unless otherwise stated Last mod: CONSEQ. UPDATE
Title:
fotcrances: T T
Linear : £0.1I
Angular : £0.5 [Size|Dwg No: SPIRE-BSM-020-001 sRev
Remove all sharp edges A2 Scale: MODEL: SPIRE-BSM-020-001 Sheet: 4 of: 5




NOTES:
I. FIT BAFFLE, ITEM 22

2. HARNESS, ITEMS 14,15 SHOWN SEPARATELY, BUT
IN PRACTICE IS ASSEMBLED IN-SITU
FROM FLYING LEADS. HARNESS ASSEMBLY PROCEDURE
(DRAFT!) OUTLINED BELOW. FULL
PROCEDURE TO BE RAISED IN DRAWING XXX (TBD)

. HARNESS ASSEMBLY:

.1 RUN ALL FLYING LEADS AND STAKE DOWN.

.2 TERMINATE LEADS FOR SOLDERING TO ITEM I,
LEAVING ADDITIONAL LENGTH 50-80mm (tbc)
FOR ACCESSIBILITY.

3.3 PROTECT ASSEMBLY AND CLEAN ROOM ENVIRONMENT
FROM SOLDERING FUMES

.4 SOLDER COMPLETE TO DRG XXX (tbd)

ww w

w

4. ATTACH CONNECTORS ITEM 1,6 AND STAKE DOWN
SPARE CABLE AS SHOWN IN DRG XXX (TBD)

THIRD ANGLE PROJECTION Royal Observatory
Blackf i
DIMENSIONS IN MM @ <|| UK Baioboran
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn:IP  Date:l5 JUN.OI
Finish: N/A |Mod“d: Date:

Unless otherwise stated Last mod: CONSEQ. UPDATE

Title:BEAM STEERING MIRROR ASSEMBLY

Tolerances: - (EXPLODED VIEW SHOWING PARTS COUNT)
Linear : 0.1
Angular : £0.5° [Size|Dwg No: SPIRE-BSM-020-001 sRev

Remove all sharp edges A2 Scale:NTS |[MODEL: SPIRE-BSM-020-001 Sheet: 5 of: 5




il

SEE DETAIL

68
41,42

55.92

32.12

30.5 55 5

15
10

| ——THIS BORE MACHINED IN CONJUNCTION
WITH SPIRE-BSM-020-001-005 & -003
SEE MACHINING ASSEMBLY DRAWING SPIRE-

80 £0.05

BSM-020-011

12

80.175

1 032
7.2
1 a2
pOT—
20
o
¢
0
| o
e o =
-
<
cuTouT SECTION A-A
07\
g o o
o o
22,75 20.9 o o
K [

= x
J C
J|== -
38.5 5" |
10 (i)
0__
\ :
-
o
123,01 |8
120,11 d
114,11 D
Ra—T
85.2
45
35 o
34 £0.05
p%J
B 4
31
4 \_O
0___
‘r; oS-
w m o ¥
~ H
o~ w
I <
w w
AN |
] 6 g}
12 D
18

DETAIL CUTOUT (IN 2 POSNS)

SCALE  1.500

SCALE 0.900 Remove all

Tolerances: -

Linear 20,1
Angular : £0.5°

/ : :g S ; - <
B_ 12111 0 46 } 1
- 1711 1511
103.2
67.2
|| 58.95
[ 42 q
37 o o (0]
ol 33.25 31 H H H
18
—DOWEL HOLES, 4 OFF.
MACHINE AT NEXT LEVEL ASSY,
DRG No. SPIRE-BSM-020-010 " .
Q O o
0 [ 1
‘ 2z = - Y3 L‘.?‘ 2 2 =
J 4 TAP M2.0 —
| | @4.2 (M4 CLEARANCE) —
H 8 @3 —
¢ 2 TAP TO SUIT AN M2.5 X ID HELICOIL LOCKING INSERT —
F 4 B2.4 +0.1
3 3 B4.5 +0.15
o D |21 |@B2.6 +0. |
© C | @15.000 +0.018/-0 —
L 2.5 B 8 TAP TO SUIT AN M2.5 X 1.5D0 HELICOIL LOCKING INSERT +0.1
A 4 @2 NOM (HT/s56) +0. |
\ REF |NO SIZE POS. TOL
| 45° THIRD ANGLE PROJECTION /f'-\\ I/I g?(y]gll([glr);elr‘\:?:ory
DIMENSIONS IN MM NG S V¢ Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: ALUMINIUM 6082 -Té CTD:-|Drawn:TAP Date: 26.JUL.0I
Finish: 01-26 Mod “d: IP Date: 6.FEB.02
Unless otherwise stated Last mod:

Title:

BSM STRUCTURAL INTERFACE

sharp edges

Size|Dwg No: SPIRE-

BSM-020-001-001

A Scale: MODEL :

SPIRE-BSM-020-001-001 Sheet: | of:




41

33.

% 5 |

45°
[4.65
< [2.65 J
\
A
v
° o j @/
@\] Y ope| v
d < 900
e — - — - - - R5
15 DOD
D|||o
\f
7
10.5 o
[0 4.65
?
[15.65 REF o=
0
|
e
Note : |. GOLD PLATE AS PER PROCESS LIST SPIRE-ATC-PRJ-708 IDIO

—
——

——

88 REF

[10.65
| 2 5
6
Hj_ ] L
o A M
DDD Y
cl C C
fan) / e
\J 77@77 777777777777777
A
7 OOO —
< M
- e °, 'O
~ -
23
81.5
88
98
D5 +.? —
B 3 TAP TO SUIT AN M4 X |.5D HELICOIL +0.15 —
LOCKING INSERT
A 3 REAM @6 TBC +0. | —
REF |NO SIZE POS.TOL |DATUM
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: AL ALLOY 6082 CTD:-|Drawn:TAp Date: 26 JyL. 0|
Finish: SEE NOTE | 01-06 [Mod d: Date:
Unless otherwise stated| Last mod: PROFILE ALTERED AND NOTE | ADDED
Tolerances: - Title: BSM BASEPLATE
Linear : +0. 1
Angular : £0.5° 12¢|Dug No: SPIRE-BSM-020-001-002 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mowm-wﬂ Sheet | OF |




O°" "0
Qs+ 0

10
5

2.4 3.7
| 8
QO
B ? @2.6 +0. | —
CUTOUT PRODUCED AT THE STRUCTURE MACHINING A ? @2 NOM (HT7/h6) +0.015 —
ASSY STAGE DRG NO SPIRE-BSM-020-011I REF |NO SI7E POS TOL |DATUM
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (]I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: AL ALLOY 6082 CTD:-|Drawn: TAP Date: 9.0CT.0I
Finish: 01-07 {Mod"d: Date:
Unless otherwise stated| Last mod:
. Title: BOT FLEXURE CLAMP
Tolerances: (JIGGLE AXIS)
Linear : +0. 1
Angular : £0.5 12| Dug No: SPIRE-BSM-020-001-003 Rev
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-00|-003|Shee’r | OF |




0
B14.994 -0.011

@2.7 THRU - 3 PLACES
+0.295

33.9

ON @33 -0.25 PCD

@ 40

& 0.2
b0l e 402
¢2'0.|ﬁ
TV oo w
LO+I _Lr)
B S

t0.25 —
3 -0.25

NOTES:

SCALE 2.000

|, NOMINAL MASS (SPIRE-ATC-PRJ-000450 V2) 306G +/- 20%
2. MAX. PERMISSIBLE MASS : 50 g

3. ALL EXTERNAL SURFACES GOLD PLATED MIN 5 microns (TBC)
4. HARNESS CONNECTION AT H (OPPOSITE FLAT)

Tolerances: -

Linear : +0. 1
Angular : £0.5°

Remove all sharp edges

THIRD ANGLE PROJECTION N STZ?II(fE))EZeL\;?:ory

DIMENSIONS IN MM N LJF( Edinburgh
Astronomy Technology Centre EH9 3HJ

Material: ASSY CTD:-|Drawn: [P Date: |2 JUN.OI

Finish: SEE NOTES Mod "d: Date:

Unless otherwise stated| Last mod:

Title: PCAL SPACE ENVELOPE

S12¢[Dwg No: SPIRE-BSM-020-001-004 Rev

Scale: 2: [uoet: spire-ssu-020-001-00af Sheet | OF




2.4 13.2

A A (D
) O Ot
Os 5 O
O
B RER: 40, | —
A ? @2 NOM (HT/h6) +0.015 |—
REF |NO SI/E POS.TOL |DATUM
THIRD ANGLE PROJECTION AN — Royal Observatory
CUTOUT PRODUCED AT THE STRUCTURE MACHINING DIMENSIONS IN MM \QJ L] UK ?L?;Eﬂffﬁ Hill
ASSY STAGE DRG NO SPIRE-BSM-020-011 Astronony Techndogy Centre £ ik
Material: AL ALLOY 6082 CTD:-|[Drawn: TAP Date: 8.0CT.0|
Finish: 01-07 [Mod d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: TOP FLEXURE CLAMP
(JIGGLE AXIS)
Linear : +0. 1
Angular : £0.5 12| Dug No: SPIRE-BSM-020-001-005 Rev
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-00|-005|Shee’r | OF |




40

26 8

|
A

|
\

@l.5

15

3
’%

P2.1

D ! — f
0.74 o 3 .
) 15 X 3

D
=5 TN R
§E9‘/////

EXTENDED POSITION SHOWN. RETRACTION OF 2mm MIN REQUIRED

48
) 42 THESE HOLES NOT USED BY BSM
| - SCALE  1.500
- -
o
NOTES:
I. THIS DRAWING OUTLINES A CANDIDATE LAUNCH LATCH FOR THE BSM THIRD ANGLE PROJECTION Royal Observatory
2. THE DIMENSIONS SHOWN ARE BASED UPON THE SMEC CANDIDATE LATCH 0 IMENS 1ONS [N MM /ES\ | Blackford Hil
PART NO. SOLENID-EAB-13, BUT SHOWING THE MAXIMUM ACCEPTABLE </ 1 |UK Edinburgh
SPACE ENVELOPE FOR THE BSM, AND A PRESENTING A FRONT MOUNTING OPTION Astronomy Technology Centre EH9 3HJ
3. NOMINAL MASS ASSUMED 50 gm
Mater ial : ASSEMBLY CTD:-|Drawn: 1P Date: 19.JUN.OI
Finish:  GOLD PLATE (TBC) Mod “d: Date:

SCALE 2.000 Unless otherwise stated| Last mod:

Title: BSM LAUNCH LATCH SPACE ENVELOPE

Tolerances: -
Linear : +0. 1

Angular : +0.5° SizelDwg No: SPIRE-BSM-020-001-007 Rev

A3

Remove all sharp edges Scale:Z:IWOML;smkpsw-mowm-wﬂ Sheet | OF |




SECTION

A-A

T T
0
Y
6
! ALSXAS”
A
!
2. 2 |§ o
o~ : RS T
9311 A | / )
e 1 = T ® 8986
91 .11 ! \
85. 11 f A | —RI6
. 5 61 .1
59. 45 | -
15.7 | 162
i | ,///L&\\\\\\
RY//V\/
RIO | S~ iz 5
s || )
12 :
| A \< | A
; o | 2.25
0l |
|

35.25

5
82
83

<2 X 45

o}

=— | X 45
RS—ﬁ\\
O
86 . || 86.86————7§y O
| |
5.25 —
0 0 O (5
A 4 952.6 +0. | —
REF |NO SI/E POS.TOL |DATUM
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (]I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: AL ALLOY 6082 CTD:-|Drawn: T7APp Date: |7 DEC 0
Finish: Mod "d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: FRONT BAFFLE
Linear +0. |
Angular : £0.5 SAiSZe Dwg No: SPIRE-BSM-020-001-009 Rfv
Remove all sharp edges Scale: WOML:SNRpBw-mowm-wﬂ Sheet | OF |




(on opposite

sides)

|3 Jiggle Frame Bottom | SPIRE-BSM-020-003-001 3
| 2 BSM chop axis assembly | SPIRE-BSM-020-004 3
|| sensor actuator 2 SPIRE-BSM-020-004-004 2
10 Jiggle Frame Top | SPIRE-BSM-020-003-002 2
9 Shielded flexure assy (jiggle bot)]l SPIRE-BSM-020-012 4
8 Shielded flexure assy (jiggle ftop)]| SPIRE-BSM-020-008 2
1 SENSOR ASSY 2 SPIRE-BSM-020-007 2
6 PACS slim magnet 2 SPIRE-BSM-020-003-003 |
5 DOWEL SS 2mm dia x 8mm Ig. 2 DOWEL_8X?2 |
4 DISC SPRING SS 3.2mm 1D 8 DISC-SPRING-1D-3_2 |
3 CSK HD SCREW SS M2.5X5 6 CSK-HD-SCREW-SS-M2-5X5 |
2 CAP HD SCREW SS M2.5x21.8mm 4 CAP-HD-SCREW-SS-M2-5X21_8]|
| CAP HD SCREW SS M2.5x24mm 4 CAP-HD-SCREW-SS-M2-5X24
ITEM|{DESCRIPTION QTY |FILENAME REV
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn:Tpap Date: 18 JUL.O
Finish: 01-25 [Mod “d: Date:
Unless otherwise stated| Last mod: FLEX PIVOTS ALTERED
Tolerances: - Title: GIMBAL ASSY (JIGGLE & CHOP)
B I A R
© Angular @ +0.5 SAI3ZC Dwg No: SPIRE-BSM-020-003 5
Remove all sharp edges Scale: WOML;stpBw-mowos |Shee+ | OF 2




|8 NOM

0.

15/0.20)

(0.

1.45

|18 NOM
15/0.20)

0.

(0.

A L]l =

I_lgm [ 1
&)
) B

(

NOTES: |. ASSEMBLE BY JIG IN ACCORDANCE WITH

SPIRE-BSM-022-XXX.
2. CHECK REF. DIMENS

IONS  AND CHOP SENSOR

SETTING DIMENSIONS AS SHOWN.

INSTRUCTION SHEET

THIRD ANGLE PROJECTION N

DIMENSIONS IN MM W/ L] UK

Royal Observatory
Blackford Hill
Edinburgh

Astronomy Technology Centre EH9 3HJ

Material: CTD:-|Drawn:TAP Date: 18 JUL.O
Finish: 01-15|Mod " d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title:  GiMBAL ASSY (JIGGLE & CHOP)

Linear : +0. 1

Angular : +0.5 S12¢/Dwg No: SPIRE-BSH-020-003 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mowo3 |Shee+ 2 OF 2




‘B HOLE

'y E S LN Tot, (@250

o PART SECTION 7-7 |
< 5 23 ¢
o = |7 M- oo 61—
EIRPSEELS ﬁqq? S o (“A" HOLE C/L)
68 B 8 / .
65 VIEW ON ‘W’ (TRUE VIEW)
ST 76 o (6] .
60.2 T
57 2 \
480/ PN R
B 3 S — 44/MACH\NED AT NEXT STAGE
oo | i (SPIRE-BSM-020-013)
yp internal | 35
N 32.9] | 1s 8 32 03 Ll
J
\>\ //ﬂ /‘¥R\ 5 (in 8 posns)
18.8
o 4.8 7=
: ' \Z
6.85 J
3 760l |o oy 0
| — ' | E |6 [DRILL @2.6 & CSK @5 X 90° 10| —
B o < a0 D |1 [SEE SECT Y- — —
Oé’_om ~T S e R C |2 |SEE SECT x-x — —
© Nm N «© - B 8 DRILL THRO® & TAP TO SUIT AN M2.5 X |.5D| £0.1 —
N HELICOIL LOCKING INSERT ON FACE SHOWN
- 9 Lo TAP M3 X 6DP MIN ON OPPOSITE SIDE
~ A2 B2 NOM (HT/s6) 10.015 |—
$9.97 REF [NO SIZE POS.TOL |DATUM
+0.015/-0
THIRD ANGLE PROJECTION Royal Observatory
PART SECTION X-X 5 IMENS IONS IN MM @D (II UK Sleck ord Wil
‘£’ HOLE Astronomy Technology Centre EH9 3HJ
) Y Material: AL ALLOY 6082 CTD:-|Drawn: TAP Date: I1.JAN.O2
‘ 6 05 Finish: 01-24 |[Mod~ d: Date:
< 7 Unless oftherwise stated| Last mod: MAGNET BORE ALTERED & SUPPT RAD. ADDED
] @ Tolerances: - Title: JIGGLE FRAME (BOT)
D6 Linear : +0.1
(D7 HOLE) FAngular 0.5 '2¢|Dwg No: SPIRE-BSM-020-003-00 Rev
PART SECTION ¥ Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-003-00||Shee’r | OF |




40 .6

25.5

< = ‘A’ HOLE C/L—J‘ > DP
ke O
— =~ RIS (in 8 posns) <
~ © . ([@D)) (@D))
N : Ui @vs
w
o ~ o] ~ N < ' Y [ A
© o) <
A‘b . W 68 | 5 28 -
O
58 96 & 61.96 L (cutout in 2 posns)
>/ - 53 5 ﬁ VIEW ON "X~
B 49.5
55 1] 4s.05 15 S —
: O O ‘A’ HOLE C/L
e ] 13.5 ‘ﬁ
typ. internal K 35 5 |
32.9 B [32.9 ) :
3 32.03 5 ol L o s < U
EN l 25.5 k M 4 DP @ m 3
,73 +yp T
L TT~—2 0P (in 2 posns) C D |
5 202 -
700 6.05 ; N
3 : -
» Q oA 0 0 VIEW ON Y~ L op
B B | |
g © o ~ R o | =
> < ~ z X ~
© - i >
~ ~ “
“’- (SPIREBSH-020-013) 5|8 |DRILL .6 0.1 |
o A 2 @2 NOM (HT7/s6) +0.015 |—
REF |NO SIT/ZE POS.TOL |DATUM
|_ _|7| THIRD ANGLE PROJECTION AN — Royal Observatory
\% X DIMENSIONS IN MM ©) L] UK Bepargh !
/L > Astronomy Technology Centre EH9 3HJ
O T e—9 0 Material: AL ALLOY 6082 CTD.- |Drawn:TAP Date: 13 NOV.O
‘ Finish: 01-15 [Mod “d: Date:
4 DP © o o Unless otherwise stated| Last mod:
(IN 2 POSNS) :
Tolerances: - Title: JIGGLE FRAME (TOP)
Linear +0. |
Angular : £0.5 12¢|Dwg No: SPIRE-BSM-020-003-002 Rev
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-003-002|Shee’r | OF |




6 Chop Stage | SPIRE-BSM-020-004-001 3

5 sensor actuator 2 SPIRE-BSM-020-004-004 2

4 PACS slim magnet 2 SPIRE-BSM-020-003-003 |

3 Shielded flexure assy (chop RH) || SPIRE-BSM-020-016 |

2 Shielded flexure assy (chop LH) || SPIRE-BSM-020-015 |

| CAP HD SCREW SS M2.5x7mm 2 CAP-HD-SCREW-SS-M2-5X7 |

I TEM|DESCRIPTION QTY |FILENAME REV

THIRD ANGLE PROJECTION Royal Observatory

DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: CTD:-|Drawn: TAP Date: 18.JUL.OI

Finish: 01-25|Mod "d: Date:

Unless otherwise stated| Last mod: FLEX PIVOTS ALTERED

Tolerances: - Title: BSM CHOP AXIS ASSY

Linear +0. |

Angular : £0.5° 12| Dwg No: SPIRE-BSM-020-004 Rev

Remove all sharp edges Scale: |MODEL:$P|RE-BSM-020-004 |Shee’r | OF 2




7.30

(ref each

SEE NOTE 2

<3

side)

Nz

PART SECTION Y-Y
SCALE 4.000

SEE NOTE

ADD FILLET OF ADHESIVE AS PER PROCESS LIST
SPIRE-ATC-PRJ-708 D6 SPEC. XXX

ADD FILLET OF ADHESIVE AS PER PROCESS LIST
SPIRE-ATC-PRJ-708 D7 SPEC. XXX

CHECK REF. DIMENSIONS AS SHOWN.

THIRD ANGLE PROJECTION N

DIMENSIONS IN MM W/ L] UK

Royal Observatory
Blackford Hill
Edinburgh

Astronomy Technology Centre EH9 3HJ

Material: CTD:-|Drawn:TAP Date: 18.JUL.O
Finish: 0l-16[(Mod "d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title: BSM CHOP AXIS ASSY

Linear +0. |

Angular : 0.5 12| Dwg No: SPIRE-BSM-020-004 Rev
Remove all sharp edges Scale: WOML:SNRpBw-m0w04 |Shee+ 2 OF 2




2
0

5

B10.5 !
_— ﬁ 7' ~ ~
B1.913% Y S e o 2 &
< Pl 2 N = ng
© - @7 ~ (r)\
53 41 | | %
; = 51,41 _—— ! l < |
| ' 49,41 S | | ¥ |
| 41 .89 | /tg
a Var) 3996 o
Y L, 39.¢ — ‘
y, N \ | 3.2l / PAE,N \ !
\/> Y% 28 T NI 30 71 7 N/ N/ N ‘ <
O = 2471 §$ 2211 %#% jr - a
C% AN f YL | 2021 L U T L | S
‘(f 74 X | Y4 | Y4 |
| | |
| 14,21 ‘
} 1152 <0 9.4
8 I I
- L1 L
? — Y= 3 | |
A\ | N — — S E— i ] [
@9 g7 | | <
> ~ _ o o o T SECTION Y-Y
SECTION Z-7 - o ~ PN
© = =
|
- Z
6. |
| N\ 9. |
6. |
O —:
VRS =4 0 C 2 DRILL @2.6 & TAP TO SIUT AN M2.5 X ID |— —
‘ HELICOIL INSERT (SEE SECT)
® B 4 DRILL 7 MAX DP % TAP M2 X 3 MIN DP — —
14.22 (EACH SIDE) A | B2 .8 — —
REF |[NO SIZE POS.TOL |DATUM
):R THIRD ANGLE PROJECTION Royal Observatory
oS DIMENSIONS IN MM @D (,I UK Bepargh !
%: :@ Astronomy Technology Centre EH9 3HJ
Material: AL ALLOY 6061 T65I CTD:-|Drawn: TAP Date: [0, JAN.0?
SECTION  ¥-X Finish: 01-24 |Mod “d: Date:
Unless otherwise stated| Last mod: SECT 77 ADDED, BORE DIMENSIONS ALTERED
NOTES : |. THERMAL CYCLE AS PER 00DOIOM Tolerances: - Title: WT\ESTN\W
2. MACHINE TO BOXED DIMENSIONS AFTER THERMAL CYCLING Linear : =40 |
Angular : £0.5° 512¢Dwg No: SPIRE-BSH-020-004-00 Rev
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-004-00||Shee’r | OF 2




w O
|
|
Y
ai
|
|
j
1L O
|
(a>) o O |
-3 i
w 7 -
Y Y
SECTION Y-
NOTES: |. DIAMOND TURN SURFACE ‘A’ TO THE FOLLOWING TOLERANCES: - THIRD ANGLE PROJECTION —~ Royal Observatory
DIMENSIONS IN MM O Blackford Hill
FLATNESS : < 2 MICRON RMS OVER THE CLEAR APERTURE </ ~—1 UK Edinbur gh
ROUGHNESS : < 5am OVER THE CLEAR APERTURE Astronomy Technlogy Centre
Material: AL ALLOY 6061 T651 |CTD:-|Drawn: TAP Date: 19.0CT.0|
Finish: Mod “d: Date:
Unless otherwise stated| Last mod:
. Title: MIRROR
Tolerances: (DIAMOND MACHINING)
Linear 0. |
Angular : +0.5 12¢/Dwg No: SPIRE-BSH-020-004-00 e

Remove all sharp edges Scale: |MODEL: 3P|RE-BSM-020-004-00||Shee’r 2 OF 2




2.

5

NOTE: |. MATERIAL : R Fe 120 TO DIN [7405 OR EQUIV.
CONDITION ANNEALED
2. FINISH : GOLD PLATED TO PROCESS SPEC SPIRE-ATC -PRJ-708 1D 10

THIRD ANGLE PROJECTION N STZ?II(fE))EZeL\;?:ory

DIMENSIONS IN MM ©O) L] UK d nburgh
Astronomy Technology Centre EH9 3HJ

Material: SEE NOTE I. CTD:-|Drawn: TAP Date: 2. AUG.OI

Finish: SEE NOTE 2. Ol-13 |Mod "d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Tithe: SENSOR ACTUATOR

Linear +0. 1

Angular : £0.5° S12¢Dwg No: SPIRE-BSM-020-004-004 Rev

Remove all sharp edges ) Scale: |M00EL:3P|RE-BSM-020-004-004|Shee’r [ OF |




SCALE

NOTE: . ASSEMBLE USING JIG NO SPIRE-BSM-022-002
1 TERMINAL PIN 4 TERMINAL_PIN_571-4015 |
6 HEAT SHIELD | SPIRE-BSM-020-005-005 2
5 ColL 2 SPIRE-BSM-020-005-003 |
4 COIL RETAINER | SPIRE-BSM-020-005-002 2
3 COIL BRACKET | SPIRE-BSM-020-005-00 | 2
2 COIL ASSEMBLY | SPIRE-BSM-020-005 2
| CAP HD SCREW SS M2.5X7.75 2 CAP-HD-SCREW-SS-M2-5XT7_175
ITEM|{DESCRIPTION QTY |FILENAME REV
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: CTD:-|[Drawn: TAP Date: 18.JUL.O
Finish: 01-14|Mod"d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: MOTOR ASSY
Linear +0. |

> o0 |Angular i 0.5 12¢/Dwg No: SPIRE-BSH-020-00 Rev
Remove all sharp edges Scale: WOML;stpBw-mowos |Shee+ [ OF |




0.5 X 4%°
(in 3 posns) T-
16.5
8.25 ] ]
ol O O
) @ 2.15
0 — 0 M 0
<
- =
18
8
45 D
3 N Wy S 2.5
| NS pwa 0
'

5

B © ~ 2 R o = © 2
TYP
_15.5
S - 13 @ G B
C
D @ o7 T 1
L | &b U
R 0 0 ——1
E I TAP MI.6 INTO CUTOUT — —
D 4 DRILL @2.3 — —
15 |¢C 2 DRILL @2 — —
>5 B I TAP TO SUIT AN M2.5 X 1.5D HELICOIL +0. | —
' LOCKING INSERT (TAP DRILL INTO RECESS)
A 4 TAP TO SUIT AN M2.5 X 1.5D HELICOIL +0. | —
LOCKING INSERT
REF |NO SIZE POS.TOL |DATUM
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: AL ALLOY 6082 CTD:-|Drawn:TAP Date: 24 JUL.OI
Finish: 01-09 (Mod "d: Date:
Unless otherwise stated| Last mod: GROOVES ADDED TO EACH EDGE
Tolerances: - Title: COIL BRACKET
Linear o 0.1
Angular : #0.5° SAiSZe Dwg No: SPIRE-BSM-020-005-00 ] Rgv
Remove all sharp edges Scale:  [wooee: seire-ssu-020-005-001] Sheet | OF |




8.

2544743

SCALE

A

2

M
\+/
C D
I I ~
] ]
R S o
TYP -
4.5
3 \ | | L—F—
(N N ;
3.000

2.1

13,795
6.5

B g 75

TRUE VIEW ON CHAMFERED EDGE

(IN 2 POSNS)

B 2 TAP MI.6 [NTO CUTOUT

Y EERGER

+0. 1 —

REF |[NO SI/E POS.TOL |DATUM
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS IN MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: (G|0-40CR CTD:-|Drawn:TAP Date: 24 JUL O]
Finish: Ol-14{Mod d: Date:
Unless otherwise stated| Last mod:

Title:
Tolerances: - e COIL RETAINER
Linear : +0. 1
Angular @ £0.5° 12¢|Dwg No: SPIRE-BSN-020-005-002 Rs v
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-005-002|Shee’r | OF |




20
|2

SCALE  3.000

12.4

SCALE 3.000

>
D NOTE :

THIS DRAWING SHOWS THE SPACE ENVELOPE FOR THE BSM COILS

THIS UNIT IS TO BE MANUFACTURED BY ZEISS AND SUPPLIED VIA MPIA

TO THE SPECIFICATIONS AND MANUFACTURING DRAWINGS OF THE PACS CHOPPER
MOTOR COILS. THESE REQUIREMENTS ARE TBD.

THIRD ANGLE PROJECTION N STZ?II(fE))EZeL\;?:ory
DIMENSIONS IN MM N LJF( Edinburgh

Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn:|P Date: 27 JUN.OI
Finish: Mod "d: Date:

Unless otherwise stated| Last mod:

Title: COIL (SPACE ENVELOPE)

Tolerances: -
Linear : +0. 1

Angular - +0.5° S12¢/Dug No: SPIRE-BSH-020-005-003 Rev

Remove all sharp edges Scale:  |wooeL: spire-ssw-0z0-005-003 Sheet | OF |




22.25

15

13.175

2

16.95

D2.6

0.25

SCALE

3.000

o
I ©
/
// ®
SCALE 2.000
i
Y
(Y]
THIRD ANGLE PROJECTION Royal Observatory
DIMENSIONS [N MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: |P Date: 26.JUN.OI
Finish: Mod "d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: SHIELD
Linear : +0. 1
Angular : +0.5 SAiSZe Dwg No: SPIRE-BSM-020-005-004 Rev
Remove all sharp edges Scale: WOML:smkpsw-mowo&om|3hee+ | OF |




22.15
(FROM INSIDE FACE)

— A =
o | O Y b
| L/ A L
e I R (7)
2 25 — -
J 4B
= 6.7
5. 10T -
SRS [
|
! Y
«© | A
!;‘
: R?
‘ o
| ” N 0.25 REF
‘ PR— PR—
| (V]
|
|
|
|
|
I I
Y@
4.5 | =
«© A ? @2.6 +0. | —
6.2 REF [NO SI1ZE POS.TOL |DATUM
THIRD ANGLE PROJECTION AN — Royal Observatory
DIMENSIONS IN MM ©) L] UK Bepargh !
Astronomy Technology Centre EH9 3HJ
NOTES: |. ELECTROFORMED COPPER AS PER PROCESS LIST SPIRE-ATC-PRJ-T708 1D9 Material: SEE NOTE | CTD:-|Drawn:TAP Date: 24.JUL.OI
2. ELECTRO GOLD PLATING ON OQUTSIDE AS PER PROCESS LIST SPIRE-ATC-PRJ-T708 IDIO Finish: SEE NOTE 2 01-14 |[Mod d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: HEAT SHIELD
Linear : +0. 1
Angular : £0.5 12¢|Dwg No: SPIRE-BSM-020-005-005 Rev
Remove all sharp edges Scale: |M00EL:3P|RE-BSM-020-005-005|Shee’r | OF |




NOTE: . BOND SENSORS [INTO MOUNTS IN ACCORDANCE WITH

\\V N /¢%7'b4 N\ PROCESS LIST SPIRE-ATC-PRJ-708 IDI

2. SOLDER CONNECTIONS IN ACCORDANCE WITH
PROCESS LIST SPIRE-ATC-PRJ-T708 IDI3
3. POT WIRES IN ACCORDANCE WITH
PROCESS LIST SPIRE-ATC-PRJ-708 1DXX

SECTION  X-X

WIRE LENGTH
TBC

2 SENSOR 2 SPIRE-BSM-020-006-002 \

\ SENSOR HSG (OLD JIGGLE) \ SPIRE-BSM-020-006-00 | \

[ TEM|DESCRIPTION QTY|FILENAME REV

THIRD ANGLE PROJECTION AN — Royal Observatory

DIMENSIONS IN MM ©) L] UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: CTD:-|Drawn: TAP Date: 18.JUL.OI

Finish: Mod "d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title: SENSOR ASSY (JIGGLE)

Linear : +0. 1

Angular : £0.5 12| Dug No: SPIRE-BSM-020-006 Rev

Remove all sharp edges Scale: WOML:SNRpBw-mowoe |Shee+ | OF |




2.

1

T T

33.5

X o]
~a 5 X 45
|
@ | 2,
X9}
< o
o *
T
0 ///////\\\\\\
‘ I}
A
5
T
o 2 (in 6 posns)
2.5 | 7 2
 (in 2 posns)
22
i
-

-
Y

<l Sl ]
(IN 2 POSNS)

.9

| .2

SECTION  X-X
A 4 TAP TO SUIT AN M2.5 X ID HELICOIL +0. | —

LOCKING INSERT
REF |NO SIZE POS.TOL |DATUM
THIRD ANGLE PROJECTION N gwalpbwawtmy
DIMENSIONS IN MM ©) UK Ll eburgn
Astronomy Technology Centre EH9 3HJ
Material: GI10-40CR CTD:-|Drawn: TAP Date: 24 JUN.O
Finish: Mod "d: Date:
Unless otherwise stated| Last mod:
. Title:

Tolerances: SENSOR HOUSING (JIGGLE)
Linear +0. |
Angular : £0.5 SAiSZe Dwg No: SPIRE-BSM-020-006-00]1 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mmow-wd Sheet | OF |




NOTE: |. BOND SENSOR INTO MOUNT IN ACCORDANCE WITH
PROCESS LIST SPIRE-ATC-PRJ-708 IDI

2. SOLDER CONNECTIONS [N ACCORDANCE WITH

PROCESS LIST SPIRE-ATC-PRJ-108 IDI3
3. POT WIRES IN ACCORDANCE WITH

| |'|7V% T PROCESS LIST SPIRE-ATC-PRJ-T08 IDXX

SECTION  X-X
WIRE LENGTH = 00 (TOP CHOP SENSOR ASSY) WIRE LENGTH = 00 (BOT CHOP SENSOR ASSY)
WIRE LENGTH = 00 (BOT JIGGLE SENSOR ASSY) WIRE LENGTH = 00 (TOP JIGGLE SENSOR ASSY)
|
TBC TBC

1O O
o |
BOT CHOP / TOP JIGGLE SENSOR ASSY SHOWN 2 SENSOR HOUSING | | SPIRE-BSM-020-007-00]1 2
(TOP CHOP / BOT JIGGLE SENSOR ASSY HAVE WIRES \ SENSOR \ SPIRE-BSM-020-006-002 \
AND SENSOR REVERSED) I TEM|{DESCRIPTION QTY|FILENAME REV
THIRD ANGLE PROJECTION e Royal Observatory
~ | Blackford Hill
DIMENSIONS IN MM NI UK Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: TAP Date: 18.JUL.O
Finish: 01-15|Mod "d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: SENSOR ASSY
Linear : +0. 1
Angular : £0.5 SAiSZe Dwg No: SPIRE-BSM-020-007 Rgv
Remove all sharp edges Scale: WOML:SNRpBw-m0w07 |Shee+ | OF |




2.15

15

(in 4 posns)

2

2.12 X 45°
.5 X 45
O
o A
—
|.2
1.9
2.1
SECTION  X-X

A 3 TAP TO SUIT AN M2.5 X

D HELICOIL +0. | —

LOCKING INSERT

REF |NO |SI/E

POS.TOL |DATUM

THIRD ANGLE PROJECTION N STZ?II(fE))EZeL\;?:ory

DIMENSIONS IN MM </ ] UK Edinburgh
Astronomy Technology Centre EH9 3HJ

Material: G10-40CR CTD:-|Drawn: TAP Date: 25.JUL.OI

Finish: 01-15 [Mod "d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title: SENSOR HOUS ING

Linear 0.1

Angular : 0.5 Sizelpwg No: SPIRE-BSM-020-007-001 Rev

Remove all sharp edges A Scale:  |wooee: spire-ssw-oz0-007-001 Sheet | OF |




NOTE :

SEE NOTE 2.

x~

FLEX-PIVOT TO BE FLUSH WITH “A°
NOTE CORRECT FLEX-PIVOT ORIENTATION.

FILL EACH OF THE 4 HOLES (JUST BELOW FLUSH) WITH ADHESIVE.

REFER TO PROCESS LIST SPIRE-ATC-PRJ-T708

I1D2.

2 Flex Pivot Protective Shield \ SPIRE-BSM-020-008-00 | \

\ Lucas flex pivot 5010-600 \ ATC-BRG-FLEX-00I \

I TEM|DESCRIPTION QTY|FILENAME REV

THIRD ANGLE PROJECTION Royal Observatory

DIMENSIONS [N MM @D (,I UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: CTD:-|Drawn:TAP Date: [8.JAN.O2

Finish: 01-25|Mod “d: Date:

Unless otherwise stated| Last mod: PICTORIALLY ALTERED

Tolerances: - Title:  SHIELDED FLEXURE ASSY (JIGGLE TOP)
Linear 0. |

Angular @ £0.5 12¢/Dwg No: SPIRE-BSH-020-008 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mmow | Sheet | OF |




1.65

@2 (DRILL IN 4 POSNS)

0.1 X 45
(IN 4 POSNS)

8 . O8+8.02
7l937+8_0\5

9. 5245 s
|

SECTION

X=X

THIRD ANGLE PROJECTION N

Royal Observatory

Remove all sharp edges

DIMENSIONS IN MM ©) L] UK Bepargh !
Astronomy Technology Centre EH9 3HJ

Material: AL ALLOY 6087 CTD:-|Drawn: TAP Date: 23 JAN.O?

Finish: Mod "d: Date:

Unless otherwise stated| Last mod:

Tolerances: - Title:  FLEX PIVOT PROTECTIVE SHIELD

Linear 0.1

Angular : +0.5° zge Dwg No: SPIRE-BSM-020-008-001 Rev

Scale:  |wooeL: spire-gsw-oz0-008-001 Sheet | OF




O
@)
1
S5
§§ g 5.0 41.5£0.05
=x (4
10£0.05

=
s
J

P +>‘
o ©r
O]V

[/,

1 Structure machining assembly | SPIRE-BSM-020-011 2
] 6 Jiggle axis flexure clamp upper || SPIRE-BSM-020-001-005 2
[ ) Jiggle axis flexure clamp lower || SPIRE-BSM-020-001-003 2
o 4 DOWEL SS 2mm dia x 8mm Ig. 4 DOWEL _8X2 |
3 DISC SPRING SS 3.2mm ID 4 DISC-SPRING-1D-3_2 |
2 CAP HD SCREW SS M2xI?2 4 CAP-HD-SCREW-SS-M2-5X12 |
e o)
N NEN | \ BSM Structural Interface \ SPIRE-BSM-020-001-001 3
i ITEM|{DESCRIPTION QTY|FILENAME REV
_>|
SECTION  X-X X THIRD ANGLE PROJECTION N Royal Observatory
O Blackford Hill
DIMENSIONS IN MM N2 ij( Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn:TAP Date: 18.JUL.O
Finish: 01-07 |Mod “d: Date:
que: . Dowel (}femA) pushed 5Smm into main structure. Unless ofherwise stated| Last mod:
(ie: 3mm protrusion) :
Tolerances: - Title: STRUCTURE MACHINING ASSY
Linear : #0.1
Angular : 0.5 12¢|Dwg No: SPIRE-BSM-020-01 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mowll |Shee+ [ OF |




SEE NOTE 2.

A
/
[ 4
o
NOTE: I ié%é*E&%E&OFEEXTFH%TW&MEN’%T‘ON ? Flex Pivot Protective Shield | |SPIRE-BSM-020-008-00| |
' \ Lucas flex pivot 5010-600 \ ATC-BRG-FLEX-00I \
2. FILL EACH OF THE 4 HOLES (JUST BELOW FLUSH) WITH ADHESIVE. ITEMIDESCRIPTION QTY |FILENAME REV
3. REFER TO PROCESS LIST SPIRE-ATC-PRJ-708 1D2. THIRD ANGLE PROJECTION /f\\ r//1 Royal Observatory
&) Blackford Hill
DIMENSIONS IN MM NI UK Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: TAP Date: 18.JAN.O2
Finish: 01-25 |Mod "d: Date:
Unless otherwise stated| Last mod: PICTORIALLY ALTERED
Tolerances: - Title: SHIELDED FLEXURE ASSY (JIGGLE BOT)
Linear : +0. 1
Angular @ +0.5 SAiSZe Dwg No: SPIRE-BSM-020-012 Rev
Remove all sharp edges Scale: |MODEL:$PIRE-BSM-020-0I2 |Shee’r | OF |




(see note

|
—
>
39.5+£0.05 =J

Y
34+0.05
] 1 ] ]
c_ C___ D

@
D)

b

ATT 77
.
(G
] ] ] 1 <
N N o 2
H =
wwf@
I
J_L‘\:r N
0 -
7 fi
-

SECTION

X

X

I)

i

(

Notes:

7 X/

B1.91

B
=f

I [

N

17

6.05

“A"Hole

(each sde)—[

SECTION

I

=J | 7.5+0.05
¢ 7 9] 3»8.0\3

D105

Y-Y

| .Dowel pushed omm into bot.frame (ie. 3mm protrusion)
6 Jiggle Frame Bottom \ SPIRE-BSM-020-003-00 | 3
5 Jiggle Frame Top \ SPIRE-BSM-020-003-002 2
4 DOWEL SS 2mm dia x 8mm Ig. 2 DOWEL _8X?2 \
3 DISC SPRING SS 3.2mm |ID 8 DISC-SPRING-1D-3_2 \
2 CAP HD SCREW SS M2 .5x21.8mm 4 CAP-HD-SCREW-SS-M2-5X21_81]|I
\ CAP HD SCREW SS M2 .5x24mm 4 CAP-HD-SCREW-SS-M2-5X24
[ TEM|DESCRIPTION QTY|FILENAME REV
THIRD ANGLE PROJECTION o Royal Observatory
~ | Blackford Hill
DIMENSIONS IN MM W) L] UK Ednbur gh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn:TAP Date: 18 JUL.O
Finish: 01-15 [Mod “d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Title: JIGGLE FRAME MACHINING ASSY
Linear +0. |
Angular @ £0.5 S12¢/Dwg No: SPIRE-BSM-020-013 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mowo3 |Shee+ | OF |




SEE NOTE 2

NOTE: . FLEX-PIVOT TO BE FLUSH WITH "A”°
NOTE CORRECT FLEX-PIVOT ORIENTATION.

2. FILL EACH OF THE 4 HOLES (JUST BELOW FLUSH) WITH ADHESIVE.

? Flex Pivot Protective Shield \ SPIRE-BSM-020-008-00 | \

3. REFER TO PROCESS LIST SPIRE-ATC-PRJ-T708 1D2. | Lucas flex pivot 5010-600 | ATC-BRG-FLEX-00? |
I TEM|{DESCRIPTION QTY|FILENAME REV
THIRD ANGLE PROJECTION AN — Royal Observatory
DIMENSIONS IN MM ©) L] UK Bepargh !

Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: TAP Date: 8. JAN.O?
Finish: Mod "d: Date:
Unless otherwise stated| Last mod:
. Title:

Tolerances: SHIELDED FLEXURE ASSY (CHOP LH)
Linear : +0. 1
Angular @ £0.5 12¢/Dwg No: SPIRE-BSM-020-019 Rev
Remove all sharp edges Scale: WOML:SNRpBw-mowls |Shee+ | OF |




SEE NOTE 2

NOTE: . FLEX-PIVOT TO BE FLUSH WITH "A”°
NOTE CORRECT FLEX-PIVOT ORIENTATION.

2. FILL EACH OF THE 4 HOLES (JUST BELOW FLUSH) WITH ADHESIVE.

3. REFER TO PROCESS LIST SPIRE-ATC-PRJ-T708 ID2. 2 Flex Pivot Protective Shield \ SPIRE-BSM-020-008-001 \
\ Lucas flex pivot 5010-600 | |ATC-BRG-FLEX-002 \
| TEM|DESCRIPTION OTY |FILENAME REV
THIRD ANGLE PROJECTION o Royal Observatory
~\ | Blackford Hill
DIMENSIONS IN MM <) ] UK Edinburgh
Astronomy Technology Centre EH9 3HJ
Material: CTD:-|Drawn: TAP Date: [18.JAN.O?
Finish: Mod “d: Date:
Unless otherwise stated| Last mod:
Tolerances: - Titler  SUIELDED FLEXURE ASSY (CHOP RH)
Linear 0. |
Angular : 0.5 SAiSZe Dwg No: SPIRE-BSM-020-016 Rfv
Remove all sharp edges Scale: WOML:wum-mmwzmow | Sheet | OF |




